Az o] Jolis @ a X FoHAL,

150m




gt wie] Zol7k 100m <1 A €] Wol
ZARIZl I2A|Q
D 0.001km? @ 10ha

@ 100000m?2 3 1000000cm?2

< uetd

rr

® 100a

R

rlo

Ir



Aot e AR 242,

'8‘]-15

lazt

=
=

wo] [ Jmel AAE ol Wol

T Jer e

oA

-8]-5_—,_ 9

1km?2 2}

ol

. B {Jm

N
—_—

=

=

a=




® 0.9ha=[ |m? @ 600m2 =[ Ja
® 1.7t =] kg @ 80000kg =[ |t
® 60ha=| |a



5.  FHolE vt >, = < & HA HERfAL.
5.6 ha O 550000 m?

e =
=%



6.

ohe £390 Holt % m2 U




A2 gl olg

AL Jre 20

o, [ gkl ok S5 A

“400cnt

cm






9. [ [otol Solz %o g oA e

500000m? = 5000a =| Jha=[ |km?

YR
-



(2) 2.03km? = |

B e
=%
ke

=%



@ 24a = 240m? @ 1300a = 1.3ha
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@® 25km? = 2500a @ 4.9a =490ha
® 6800000m? = 680 a @ 0.54ha = 5400 m?

3 370a = 3.7m?2
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@ 540000 m? = 54 ha @ 6.1ha = 6100 m?2

B 1.7km?2 = 17000 a,
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® 0.3km? = 3ha @ 24000a = 2.4km?

3 3.6ha = 36000 m?2
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@D 3.6ha = 360 m? @ 46a = 46000 m?
® 240a = 0.024 km?2 @ 300m? =0.03a

3 8km2 = 8000000 a,
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@® 100m? @ 10000a ® 0.1km?

@ 1ha ® 10m x 100m
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® 4m? @ 40 cm? @ 40m?

@ 4000 cm? ® 40000 cm?
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